Kisa BS
Barometer - Arsmote 2024-02-14

Partavling, 7 bord, 13 par. Antal brickor: 24. Medel: 120.2. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 7 147.3 61.38 Tony Lindblom - Risto Laine 21037 88882 Kisa BS
2 8 145.3 60.53 Bo Flyme - Peter Hahne 2260 1187 Kisa BS
3 4 142.2 59.26 Hakan Lennartsson - Tommy Simonsson 18063 21857 Kisa BS
4 3 135.1 56.31 Harriet Albinsson - Bosse Larsson 44436 56769 Kisa BS
5 9 135.0 56.27 Fredrik Banck - J6rgen Damm 21847 88999 Kisa BS
6 12 122.0 50.84 Evy Axelsson - Liane Ringh 44435 44433 Kisa BS
7 10 117.8 49.10 Lars Durefelt - Christer Frisk 17659 43398 Kisa BS
8 1 112.1 46.70 Kent Hidsjo - Sven-Arne Svensson 17658 1030 Kisa BS
9 6 106.7 44.47 Jyrki Niskala - Anders Karlsson 65402 12332 Kisa BS
10 5 105.1 43.78 Mats Nilsson - Tommy Larsson 17418 78648 Kisa BS
11 2 103.9 43.30 Tomas Holmberg - Claes-Goran Blixt 9167 12046 Kisa BS
12 11 96.8 40.33 Agneta Lindblom - Benny Andersson 17656 12301 Kisa BS
13 13 93.2 38.84 Ylva Skiéld - Helén Forss 19968 9196 Kisa BS
1 & EKKn843 Bésta kontrakt 4875 Bésta kontrakt 3 #1032 Bésta kontrakt
Nord vD53 2NT N =120 v D65 24 O =-110 Syd v ED752 44 S D -3 -500
Ingen 4 Kn3 + EK32 ov + D43
#Kn6 & ¢ v aN #ED4 & ¢ v aN #E10 & ¢ v & NT
462 410975 N59 7 88 4 E963 4 DKnl10 N557565 4 ED985 & KKn4 N755 314
v K82 v EKn96 S597 838 vE3 vK2 S55855 vKKn108 v43 S7 4534
¢52 ¢+ E106 O7 3645 ¢1065 ¢ Kn9874 088486 ¢+ Kn8 ¢+ E10972 067899
#D109853 #72 V73645 &#Kn752 #K83 V 88486 #63 #KD4 V68899
D 4 K42 476
v1074 v Kn109874 v 96
+ KD9874 +D + K65
*EK4 #1096 #Kn98752
Par Kontr Ut Res Poéang Kontr Ut Res Poéng Par Kontr Ut Res Poéng
6 9 3NS+3 T 490 100 00| 3 12 2¢v N= +Q 110 90 10| 6 11 44 V-1 +4 100 9.0 1.0
5 10 3¢ S= 46 110 80 20|13 2 2vyN= «Q 110 90 10|12 5 44V-1 A 100 9.0 1.0
3 12 3¢ S-1 *Q -50 50 50| 5 10 2v N-1 +Q -100 50 50| 7 10 24 V+1 vA -140 6.0 4.0
7 8 44 N-1 *7 -50 50 5.0 8 2v N-1 +Q -100 50 50| 1 3 3aV+l SA -170 30 7.0
11 4 44 N-2 »7 -100 10 90 4 2¢ S-4 vA -400 20 80| 4 13 24 V+2 *A -170 30 7.0
13 2 44 N-2 *7 -100 10 90 9 4e V+1 v6 -450 0.0 10.0| 8 9 4aV= a2 -620 0.0 10.0
-1 5.4 1 54| - 2 4.8
4 4 K863 Basta kontrakt + 1064 Basta kontrakt 6 4 87532 Basta kontrakt
Vast v 9432 64 N =1370 v Kn98 3¢ O =-110 Ost v10 2NT O =-120
Alla +K + 108 ov +E106
#EKKn5 & ¢ v & NT #KD963 & ¢ v aN #KKn75 & ¢ v & NT
41097 4 Kn52 N 125 5 118 4KKn8 #E73 N8 4555 «ED 4« KKn94 N5 4754
vKD1065 vKn87 S 125 5 118 v1042 vD653 S84555 v 865 v EKn4 S53754
¢ DKn43 ¢ E10976 016612 ¢ EDKn ¢ K9752 059876 ¢+ Kn853 ¢ K972 07 96 88
«8 #43 V16612 #Kn872 #10 V59876 #ED62 #108 V796738
«ED4 « D952 + 106
vE v EK7 vKD9732
4852 4643 +D4
#D109762 #E54 2943
Par Kontr Ut Res Poéng Kontr Ut Res Poéng Par Kontr Ut Res Poéng
8 9 3NN+3 ¢7 690 100 00| 8 11 2¢ O= vA -90 100 0.0| 8 11 3¢ O-2 vK 200 10.0 0.0
4 13 3NS+2 v6 660 6.0 40| 9 10 24 S-1 ¢ A -100 80 20| 5 1 3NO-1 vK 100 8.0 20
6 11 3NS+2 vK 660 6.0 40| 2 4 340= vA -110 6.0 40| 9 10 3vS-1 +3 -50 6.0 4.0
7 10 3NS+2 v5 660 6.0 40| 7 12 2¢ O+2 vA -130 30 7.0| 7 12 3¢ O= vK -110 40 6.0
1 3 54S+1 v6 620 20 8.0|13 6 2¢ O+2 vK -130 30 70| 2 4 3NO= v7 -600 1.0 9.0
12 5 24 N+4 v7 170 0.0 100| 5 1 34S-3 ¢A -300 0.0 100|113 6 3NO= v7 -600 1.0 90
- 2 48| - 3 47| - 3 4.7
7 4108 Bésta kontrakt 4 Kn1065 Bésta kontrakt 9 & KKn7 Bésta kontrakt
Syd vKn3 2v V =-110 v K832 4v N =420 Nord vED7 2NT N =120
Alla + K64 +9 ov ¢+ ED3
#EKKn874 & ¢ v aN #E854 & ¢ v &N »8764 & ¢ v & NT
4 EK64 4975 N87 467 &« K92 4 D83 N 7 5 109 8 4 8643 4 E9 N9 7 6 88
vKD98 vE1064 S87 467 vD v 975 S 7 5 109 8 vKKn62 v10854 S 976 838
¢D10 ¢ Kn983 046875 ¢ K107652 ¢ DKn3 058345 +K ¢Kn108754 O 4 6 7 5 5
#1092 #63 V461875 #KDKn #10962 V58345 #KKn102 &5 V46755
& DKn32 sE74 4 D1052
v 752 v EKn1064 v93
+ E752 + E84 4962
»D5 »73 #ED93
Par Kontr Ut Res Poang Kontr Ut Res Poang Par Kontr Ut Res Poang
8 13 l1laV-2 A 200 100 00| 9 12 4v S+1 ¢2 450 100 00| 7 3 3NN= ¢J 400 10.0 0.0
9 12 34 N= 47 110 80 20| 8 13 3v S+2 «K 200 80 20| 4 6 INN+3 ¢7 180 80 20
10 11 2# N= vA 90 6.0 40| 1 7 3vS+l «K 170 50 50| 2 8 INN+1 +J 120 6.0 4.0
3 5 24S-1 vK -100 40 6.0 3 5 2vS+2 K 170 50 50| 9 1 2¢0-1 v9 100 40 6.0
1 7 2v0O= *Q -110 20 80| 6 2 2v S+l «K 140 20 80|10 13 2NN-1 +J -50 20 8.0
6 2 lvV+2 6 -140 0.0 10.0|10 11 4v S-1 *K -50 0.0 10.0|11 12 3NN-3 +J -150 0.0 10.0
- 4 60| - 4 6.0 - 5 45

Kisa BS, Barometer - Arsméte 2024-02-14, sida 1 av 3




10 4 D1094 Basta kontrakt 11 & EKKn52 Basta kontrakt 12 4 KKn106 Basta kontrakt
Ost v 1094 3¢ V =-110 Syd v D83 34 SD-1-100 Vast v D875 34 N =140
Alla +8 Ingen + Kn4 NS + D32
#EDKn87 & ¢ v & NT #EK7 & ¢ v & NT *K4 & ¢ v & NT
« E85 a K2 N7 4585 » 106 D83 N7 3785 «D3 » 987 N54895
v76 v KD853 S74587 vE1097 vKn2 S83785 vEG3 v 1042 S54895
¢ EKD52 ¢ 973 048646 ¢ EK8 ¢D1097532 O 5 9 6 5 8 ¢ EKn106 ¢ K974 078546
*K32 #1095 V59756 #DKn102 #5 V59658 #Knl1073 #E92 V78546
4 Kn763 4974 & E542
v EKn2 v K654 v KKn9
+ Kn1064 +6 +85
»64 #98643 +D865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 3vV-2 +8 200 100 00|10 2 3NV-1 *K 50 100 00| 8 4 INO-3 «2 150 10.0 0.0
7 3 200-1 6 100 70 30|11 1 34N-1 *5 -50 80 20|11 1 INO-1 *5 50 8.0 20
10 13 3v O -1 «6 100 70 3.0| 8 4 24 O+1 a4 -110 6.0 40| 3 9 2¢V= T -90 40 6.0
11 12 24 N-1 +3 -100 40 6.0(12 13 3¢ O+1 4 -130 40 6.0|10 2 2¢ V= 46 -90 40 6.0
2 8 2v V= +8 -110 10 9.0 3 9 3¢ O+2 44 -150 20 80|12 13 2¢ V= *4 -90 40 6.0
9 1 2vO= »6 -110 10 90 5 7 3NO= 49 -400 0.0 100| 5 7 34S-2 ] -200 0.0 10.0
- 5 45| - 6 44| - 6 4.4
13 473 Bésta kontrakt 14 & EKn942 Bésta kontrakt 15 & E632 Bésta kontrakt
Nord v 753 4v O =-620 Ost v32 64 SD-2-300 Syd vED72 54 V D -3 500
Alla + E8642 Ingen + 10965 NS *4
#K102 & ¢ v & NT 83 & ¢ v & NT #EK103 & ¢ v o NT
~EK852 4104 N7 6 356 a- 4653 N7 01102 « 10754 4 KDKn8 N 115 7 5 6
vE1062 vKn984 S76356 vKD10954 vE6 S 701102 vKn10643 v98 S 115 7 5 6
¢ 103 ¢ KKn95 O5 7 108 7 ¢ Kn842 ¢ EKD73 O 5 12123 7 ¢ E863 ¢ KDKn9 027585
*E7 #654 V57 108 7 *KD9 »764 vV 5 12113 7 *- #DKn7 V27685
« DKn96 « KD1087 49
vKD v Kn87 v K5
+ D7 .- +10752
#DKn983 #EKn1052 986542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 10 INS+1 42 120 100 00| 9 5 44DS= vK 590 100 00|10 6 4e4V-4 9 200 10.0 0.0
9 5 INN-1 T -100 80 20| 6 8 6vV-1 & A 50 80 20|12 4 2NN+1 v9 150 8.0 20
12 2 1aV+1 ¢ A -110 6.0 40| 4 10 3vV+3 46 -230 6.0 40| 1 2 34S+1 vJ 130 6.0 4.0
11 3 2¢vy V+1 a7 -140 40 6.0|13 1 5¢ 0+1 #K -420 40 6.0 5 11 3vDO-1 ¢4 100 40 6.0
6 8 2vV+2 &T -170 20 80|11 3 4vV+2 & A -480 10 90| 7 9 2vV-1 *4 50 1.0 9.0
13 1 29 0+3  +Q -200 0.0 100|112 2 5vV+l LY -480 10 90(13 3 2v V-1 +4 50 10 90
-7 68| - 7 68| - 8 6.5
16 & EKn95 Basta kontrakt 17 & Kn5 Basta kontrakt 18 41052 Basta kontrakt
Vast v 8754 4v N =420 Nord v D52 44 N D -1-100 Ost v EDKn86 6NT O =-990
oV 4+ Kn92 Ingen 49762 NS ¢ Kn
#EKn & ¢ v & NT *E742 & ¢ v & NT #D932 & ¢ v & NT
» 102 » K87643 N 6 11107 9 2 K1098 4 ED42 N9 7 434 «ED9%  4KKn3 N21601
vKD32 +v10 S 6 11107 9 vE9763 vKKn4 S 97 434 v9 v K5 S21601
+85 + D6 07236 2 +108 ¢ K543 046995 ¢ED87  ¢K9432 O 11127 1212
2K9876 #D1032 V72362 293 *Kn6 V46995 #Knl1054 #EKS8 V 11127 1212
D 4763 4874
v EKn96 v108 v 107432
+ EK10743 ¢ EDKn 41065
#54 +KD1085 *76
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
7 9 34DO-3 ¢A 800 100 00| 6 12 3#S+1 ¢T 130 9.0 10| 2 3 44 V+l +J -450 10.0 0.0
5 11 4y N= 8 420 80 20| 8 10 3#S+1 ¢T 130 90 10| 1 4 3NO+3 v4 -490 6.0 4.0
13 3 34 0-3 +K 300 6.0 40| 1 4 340= &5 -140 40 6.0(11 7 3NO+3 v4 -490 6.0 4.0
1 2 2vN= «2 110 30 70| 2 3 340= *K -140 40 6.0(13 5 3NO+3 v3 -490 6.0 4.0
12 4 3¢ S= T 110 30 70|11 7 3vV= *A -140 40 6.0 6 12 3ANO+4 v4 -520 1.0 90
10 6 4vy N-2 *2 -100 00 10013 5 34 0+1 T -170 0.0 10.0| 8 10 3NO+4 w7 -520 10 90
- 8 65| - 9 61| - 9 6.1
19  E10982 Bésta kontrakt 20 & Kn3 Bésta kontrakt 21 « ED9832 Bésta kontrakt
Syd v K543 2NTV =-120 Vast v D9854 4v N =620 Nord vD 5v O =-450
oV + E82 Alla + E1093 NS ¢+ Kn4
3 & ¢ v o NT *76 & ¢ v & NT 10987 & ¢ v o NT
«Kn D763 N54565 4852 » EK9 N5 6 109 7 41064 aKKn7 N75254
vD9876 vEKn S54565 v1076 v3 S5 6 109 7 vEK964 7532 S7526 4
+ 104 ¢ KDKn95 087 86 8 ¢ K76 ¢ Kn8542 077335 +KD986 +E O6 8 116 8
#ED987 452 V8786 8 #K1043 #DKn92 V77335 *- #DKn643 V 6 8 116 8
« K54 «D10764 45
v 102 v EKKn2 v Kn108
¢ 763 ¢D ¢ 107532
#KKn1064 #E85 #EK52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 6 4¢0-3 4 300 100 00| 1 6 4v N+l «A 650 90 10| 4 5 4v V-2 T 100 10.0 0.0
7 13 24 N-1 vA -50 70 3.0| 7 13 4y N+1 4K 650 90 10|10 12 4v V-1 +J 50 8.0 20
9 11 34 N-1 vA -50 70 30| 2 5 3¢DO-1 vA 200 50 50|13 9 4v V= *T -420 6.0 4.0
2 5 34 N-2 +K -100 40 6.0 9 11 2v S+3 ¢+K 200 50 50| 3 6 4vV+l s A -450 30 7.0
3 4 3¢ 0= +4 -110 10 90| 3 4 1aS+2 ¢7 140 10 90| 8 1 4vV+l *9 -450 30 7.0
12 8 3¢ O= 44 -110 10 90|12 8 3vS= *4 140 10 90| 2 7 4¢vyDV+1l o4 -690 0.0 10.0
- 10 45| - 10 45| - 11 3.7
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22 4732

Ost v KKn2

ov + KDKn96
*32

& K84 109
vE10987 vD64

+ES8 ¢ 10754
&EK4 &DKn87
& EDKn65
v53
32
#10965
Par Kontr Ut
10 12 34 S-3 &A
8 1 2vV+2 +K
3 6 1lvyV+4 *+K
2 7 4v 0= +K
4 5 4v V= +K
13 9 4v V= *+K
- 11

Basta kontrakt
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